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General Instructions:
Candidate will be supplied with separate Question Paper and Answer Sheet.
Answer the questions in the OMR sheet by shading the appropriate bubble.

Shade the bubbles with black ball pen/HB pencil.
Each question carries one mark.
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shade the correct box.

For each question below, four options are given. One of them is correct answer. Make your choice and

Read the passage carefully and answer the questions that follow:

The Amazing Woodpecker

The Woodpecker is an interesting and amazing bird. These awesome

birds live in forests and wooded areas with lots of trees. Woodpecker can be found all

over the world, except in Australia. It has a strong pointed beak that acts as a hammer

to remove bark from trees and find insects to eat.

Most birds have one toe pointing back and three pointing forward on

each foot. But woodpeckers have two sharp claws pointing back and two sharp claws

pointing forward on each foot.

Find one word from the passage which means the same as:

1. Extremely good.
a) Amazing b) Awesome c) Pointing

2. Outer most part of the tree.

a) Wooded b) Hammer c) Beak
3. Woodpeckers are not found in

a) India b) America c) Australia
Find out opposite words for the following:

4. Weak x

a) Pointing b) Strong c) Sharp
5. Blunt X
a) Sharp b) Forward c) Strong

Find out the adjective from the given sentence:

d) Interesting

d) Bark

d) Europe

d) Except

d) Wooded




6. The enormous elephant loved peanuts.
a) Peanuts b) Loved c) the d) enormous
7. Plants are of different sizes; a small plant is called a
a) Petal b) Tree c) Trunk d) Shrub
8. Rewrite the underlined word with a synonym.
My father is sitting on the couch.
a) Chair b) Sofa c) Bed d) Stool
9. We breathe

a) Carbondioxide b) Nitrogen c) Hydrogen d) Oxygen

10. ‘Do or Die” was one of the most powerful slogans of India’s freedom struggle. Who

gave it?
a) Mahatma Gandhi b) Jawaharlal Nehru
c) Bal Gangadhar Tilak d) Subhash Chandra Bose

11. Junk foods are very tasty; but unhealthy. Among these _ is a junk food.
a) Watermelon b) Idli c) Pizza d) Strawberry

12. Complete the sentence with correct question word.

are you going to finish your homework?

a) Who b) Which c) What d) When
13. Bears as the monkeys chatter.
a) Growl b) Bark c) Quack d) Yelp

14. When was the common wealth games started?

a) 1930 b) 1934 c) 1938 d) 1950
15. Odd one out

a) Television b) Newspaper c) Post office d) mobile phone
16. Which is the biggest organ in our body?

a) Head b) skin c) leg d) hand



17. 2012 Olympics was held at
a) Beijing b) London c) Dubai d) Colombo

18. National Sport of India
a) Cricket b) Hockey c¢)Volleyball  d) Foot ball

19. What comes next?

—
oI v o W]l

20. “Carpenter’ is related to ‘Furniture’; in the same way as ‘Blacksmith’ is related

—
i

to
a) Gold b) Jewellery c) Shoes d) Metal
21. Who was the first cricketer to get Bharath Ratna?
a) KapilDev ~ b) M.S. Dhoni c¢) Sunil Gavaskar d) Sachin Tendulkar
22. Find the odd one:
a) Ring b) Bangle c) Plate d) Tyre
Identify the relationship and fill in;
23. Horse : Hoof ; Eagle:

a) Claw b) Clutch c) Leg d) Foot
24. Fish : Gills; Man :
a) Heart b) Skin c) Hair d) Lungs

25. With which game is Lionel Messy related?
a) Lawn Tennis b) Football c) Cricket d) Squash

26. In a certain code BOXER is written as ANWDQ . How VISIT is written in that

code?

a) UHHSR b) USHRH ¢) UHRHS d) SHRHU



27. __ has won Cricket World Cup for the maximum number of times.
a)Australia b) India c) West Indies  d) Srilanka

28. The inventor of television is
a) John Logie Baird b) Rutherford c) Marconi
d) Alexander Graham Bell

29. A large volume of water is gushing through a pipe which narrows at the outlet. At

which point A, B, C or D will the water flow fastest?

==
A B CD

a) A b) D c) Both A and D d) C
30. Find the missing part:

-

N
/

K
\ /

31. Select the correct word: My dog hurt his

a) Paws b) Pores c) Pause d) Pours

32. Which plant is very well adapted to desert?

a) Fern b) Shrub c) Trunk d) Cactus
33. Edible part of carrot is of this plant

a) Root b) stem c) Fruit d) Leaf
34. The library doesn’tclose __ 8:30 pm

a) On b) Of c) Until d) In



35. Raghu has a 10 rupee note, 5 rupee coins and a 2 rupee coins in his wallet. How
much money does Raghu have in all?

a) 20 b) 12 c) 18 d) 17
36. Complete the pattern:
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37. What comes next in the given number pattern?
1 2 (2 313 4 |4 515 6
0 1 2 3 4 ?

4 3 5 416 517 6 |8 7

6 7 6 7 6 5 7 8
a) 5 b) 5 C) 7 d) 9

9 8 8 9 7 5 6 5

38. If ‘P’ is the husband of ‘Q”" and ‘R’ is the son of ‘I’, then how ‘Q’ is related to ‘R’?
a) Mother b) Father c) Wife d) Daughter

39. Count the number of squares in the given figure.




a) 5 b) 7 0) 9 d) 10

40. Find the missing number in this series?
4, 10, 16, , , 34, 40
a) 23,29 b) 22, 28 c) 23,27 d) 25,30

41. Sunil buys a pen for 15 rupees. He gives the shopkeeper a 50 rupee note. How
much money does the shopkeeper return to Sunil after deducting the cost of the pen?
a) 40 rupees b) 35 rupees c) 15 rupees d) 10 rupees
42.67+5=____  tens ones
a)75,1 b) 69, 5 c) 69,3 d) 70, 2
43. The time in digital clock is 6.30pm. Among these which clock shows the correct

time as in our digital clock.

ororeres

44. Young one of the giraffe is
a) Bunny b) Calf c) Foal d) Joy
45. A baby giraffe was 30cm tall. Another young giraffe in the zoo was 50 cm tall. How
much shorter was the baby giraffe?
a) 10cm shorter b) 15 cm shorter c) 20 cm shorter d) 25 cm shorter
46. Mayor Fauna, leader of the town of Flora, donated 27 oak tree seedlings and 16
seedlings of holly. How many seedlings did he donate altogether?
a) 42 seedlings b) 52 seedlings c) 43 seedlings d) 47 seedlings
47. Which bird is having a longest wingspan?
a) Flamingos b) Albatross c) Pelicans d) Egrets
48. How many legs are there in 1 table and 2 chairs?

a) 10 b) 11 0) 12 d) 13



49. What is to be added to 10, to get 20?
a)9 b) 20 c) 19 d) 10

50. How many ones are there in 89?
a)9 b) 8 c) 80 d) 81

51. National Teachers’ Day is observed on

a) September 2 b) September 7 c) September 4 d) September 5
52. Sanjay Gandhi National Park is in

a) Chennai b) Hyderabad c) Kochi d) Mumbai
53. First newspaper in India

a) Rajya Samacharam b) Times of India C)

c) Bengal Gazette d) Bombay Samachar

54. Silent Valley is situated at

a) Kozhikode  b) Thiruvananthapuram c) Malappuram d) Palakkad
55. Who is the President of India?
a) Prathibha Patel b) Pranab Mukherjee c¢) Narendra Modi

d) Manmohan Singh
56. A can make it easier to play computer games.
a) Monitor b) Scanner c) Printer d) Joystick

57. How many enter keys are there in a normal keyboard?

a)l b) 2 c)3 d) 4

58. Which part interprets program instructions and initiate control operations?
a) Input b) Control Unit c) Storage unit d) Logic unit

59. any part of the computer that you can physically touch.

a) A device b) Peripheral c) Hardware d) An application
60. Odd one out

a) Keyboard b) Internet c) Mouse d) Printer
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Answer Key Class: I
1.b 16.b 31.a 46.c
2.d 17.b 32.d 47 b
3.c 18.b 33.a 48.c
4.b 19.d 34.c 49.d
5.a 20.d 35.d 50.a
6.d 21.d 36.d 51.d
7.d 22.c 37.a 52.d
8.b 23.a 38.a 53.c
9.d 24.d 39.b 54.d

10.a 25.b 40.b 55.b
11.c 26.c 41.b 56.d
12.d 27.a 42.d 57.b
13.a 28.a 43.a 58.b
14.a 29.c 44.b 59.c
15.c 30.d 45.c 60.b




